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EMERCISE 6
1. Write how many tens and ones.
23 = _tens __ ones 28 = __ tens __ ones
29 = _ tens __ ones 26 = _ tens __ ones
38 = _ tens _ ones 30 = _tens __ ones

Unit 11: Numbers to 40



11. There are 24 cupcakes altogether.
4 cupcakes are on the plate.
How many cupcakes are in the box!?

cupcakes are in the box.

12. There are 8 blue cars.
There are 4 yellow cars.
There are 6 red cars.
How many cars are there altogether?

Thereare _____ cars altogether.
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EMERCISE 1

1. Write the answers.

’——-\ ’——-\ ’—-h\
7 N\ Ve \ Ve \
V4 \ V4 \ V4 \
| ] | ] | ]
\ / \ / \ /
N\ P4 \ P4 ~ P4
\-__/ \-__/ \-__/
2 + 2 + 2 =
3 twos =
’—-~~ ’—--N ’—-- ’—-~~
P ~ P d ~ P d P ~
V4 \ V4 \ V4 V4 \
1 \Y I 4 \ I 4 \ 1 \Y
| 1 | 1 1 1 1 1
\ 1] \ 1 \ 1] \ 1]
\ V4 \ V4 \ \ V4
~ P4 ~ P4 ~ ~ P4
Nh——’ Nh——’ ~~_— ~~_—’
3 + 3 + 3 + 3 =
4 threes =
smTTTSS smTTTSS
P4 ~ P4 ~
V4 \ P4 \
V4 \ V4 \
I ] I ]
\ 7 \ 7
\ V4 \ V4
\~~- _—’/ \~~- _—’/
6 + 6 =
2 sixes =
P \ P \ P \
V4 \ V4 \ \
| 1 | 1 1
\ / \ V4 /
\\ ,/ \\ ’/ \\ ,/
N‘--——’ N‘--—— N‘--——’
4 + 4 + 4 =
3 fours =

Unit 12: Multiplication
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EBERCISE 13
1.

Circle the greater number.

(@) - B
43 50

®) [ ]
59 54

(c) 28 26 (d) 70 65

(e) 78 87 (f) 99 100

Circle the greatest number.

(@) 43 45 42 (b) 78 87 85

(c) 63 60 62 (d) 98 99 100

(e) 59 70 62 (f) 57 52 54

Unit 16: Numbers to 120
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EBERCISE 23

1. Subtract.

O 0 W

= 0 W

1 O 0 W

36-10—3)
36 — 13 = > |

47 — 10 — 2 = 67 — 10 — 5 =
47 — 12 = 67 — 15 =
58 — 10 — 8 = 60 — 10 — 4 =
58 — 18 = 60 — 14 =
43 — 10 - 7 = 61 — 10 — 3 =
43 — 17 = 61 — 13 =

Unit 16: Numbers to 120 149





